
ΣΚΑΠΤΙΚΟ ΠΙΣΤΟΛΕΤΟ ΚΑΤΕΔΑΦΙΣΤΙΚΟ 2100W
DEMOLITION HAMMER 2100W 9990

No. ΠΕΡΙΓΡΑΦΗ ΠΟΣ.
Rod
Trigger
Pin
Brush house
Carbon brush
Screw ST3×10
Brush spring
Screw M5×16
Spring washer
Washer
Fan sa
Cover
Screw ST3×10
Screw M5×25 
Washer 
Spring Washer 
Brush Plate Sa 
SIeeve Insulating 
Bearing 600NSK 
Washer 
Magnetism Ring 
Armature
Screw ST5×65
Stator
Houselng
GIass Fibrepipe Ø6
Handle
Screw
Washer
Spring Washer
Screw M4×14
Cord clip
Gearcass Sa
0 Ring Ø87×Ø1.75
Bearing 6304NSK
Crank Shaft
Cover Sa
Spring Washer 
Washer
Screw M5×22
Needle Bearing HK1420
Connecting Rod
Piston Pin
Pin 
0 Ring Ø40×Ø5
Electronic
Screw ST4×16
Connecting Plate
Cover
Spring Washer 
Washer 
Screw M5×25
Detent
Knob
Cover
Nut M8
Knob Sa
Handle
Clamp
Washer clamp
Bott M8×180
Chisel
Case

1
1
1
2
2
2
2
1
1
1
1
1
2
4
4
4
1
1
1
1
1
1
2
1
1
1
1
6
6
6
1
1
1
1
1
1
1
3
3
3
1
1
1
1
1
1
2
1
1
5
5
5
1
1
1
1
1
1
1
2
1
1
1

No. ΠΕΡΙΓΡΑΦΗ ΠΟΣ.
Bush
Pin
Ring
Pin 
Screw
Washer M6×40 
Sring washer Ø6
Collet Ø6
O ring Ø62.9×Ø2
O ring Ø43×Ø2.5
O ring Ø54.5×Ø5.7
Spindle Sa
Seal
O ring Ø44.5×Ø5.2
Rearing bush
Beat piece
Bush
Damper
Bush
O ring Ø54.6×Ø5.7
Seal
O ring  Ø45×Ø2.5 
O ring Ø49×Ø5.1
Cylinder Sa
Ram
O ring Ø40×Ø3.5
Houseing Front
Spring guide
Spring
Spring guide
Counter weight
Sping guide
Screw M8×40
Washer
Sprinng washer
Screw M4×14
Side cover
Bearing 620NSK
Gear
Washer
Gear
Feather key 4×12
Gear
Circlip Ø36.5×1.5
Bearing 6002NSK
Spacer
Spacer
Circlip Ø34.4×1.2
Sesl
Bearing 6202NSK
Circlip Ø37.8×1.5
Sping washer
Washer
Screw M5×25
Cord jacket
Cord
Capacitance
Seal
Cover
Screw ST4×18
Cord clip
Switch
Actuator

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63

1
1
1
1
6
6
6
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
2
2
1
1
4
4
4
4
2
1
1
1
1
2
1
2
1
1
1
1
1
1
1
1
6
6
1
1
1
1
1
2
1
1
1

64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99

100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126


